‘PanNumba
5442
6029
6101
6186
6339
6353
6875
7099
8422
8855
8935
8978
9064
9065
9067

PR RPRR R

NRPRRPRNRRPRPEM

AUSSIE GMP PUMPS: B2KQ-A/X FOR CYLINDRICAL " SHAFT TYPE Q
CAT AA2B

F%01

AUSSIE SPARES DIAGRAM & PARTS LIST

6101
F175

F547

8978
F549
9067
9064
F520
8935
8422
F548

Description

F135

S/Steel OEB Screw M6x15

Flex. Gasket B 2618
Check Valve 2616/2
Flex. Washer 33x39x2
Mech. Seal 25-47-14
Counterface 27-50-10

OEB Screw M 4x10
Screw OEB 5/10” L=20
OR 3425 107.62x2.62
Gasket Inspect. Door
Complete Pin M8
Counterweight Washer
Counterweight

Nut TE M6x12

9065 9064 5442 F139'

F555 6186

F522

Retall
nce

$8
$26
$2
$43
$30
$0
$2
$8
$7
$22
$43
$36
$47
$2

f 2 7

N

174

6029

7099

H358

: /H363

H364

8855 6339 6353 6875

Retall
Part Number  Qty Description price

F135 1 Conical Tap ¥4" Gas

F174 1 Stainless Steel Pump Casing
F175 1 Valve B2KQ-A AISI 316
F401 1 Complete Check Valve

F520 1 Inspection Door

F522 1 Impeller

F547 4 Screw M8x20 AISI 316

F548 1 Washer D.6.5x24x2

F549 2 Screw M8x40 AISI 316

F553 4 Stainless Steel Screw M10x18
F555 1 TapAlISI 316 1"G

F739 1 Steel Nut M6x1

H358

H363

H364

$22
$3,841
$858
$72
$112
$895
$4
$2
$10
$4
$116
$7

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 | F: 02 9894 4240 | www.aussiepumps.com.au

All prices include GST

GMP/JUN 10/1




